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11. The correct option for getting X =1 from the
given circuit is :

A
B

AB

:“jms)(am -

Co—u |
(a) A=B=C=1
(b) A=B=1andC=0
(c) A=C=1andB=0
(d A=0andB=C =1
12. The ratio of speed of sound in nitrogen and
helium gas at 300 K is :

(a) ‘{?—? (b) i;l-
(c) % (d) %

13. The current gain p for a transistor is 49 and the
emitter current is I mA. The base current in pA
15 .
(a) 20 (b) 40
(e) 10 d s
14. The dimensions of electric potential are :
@ MLTQ7!] (b)) (MLT QY
© M’T7'Q] () MIPT Q)
15. A photon and an electron have equal energy E.
A photon/ electron 18 proportional to :
(a) JvE
(b) I/VE
(c) 1/E
(d) does not depend upon E
16. A gas mixture consists of 2 moles of oxygen and
4 moles of argon at temperature T. Neglecting
all vibrational moles, the total internal energy
of the system is :
(a) 4RT (b) 15 RT
(c) 9RT (d) 11 RT
17. A small sphere carrying a charge g is hangingin
between two parallel plates by a string of
length L. Time period of pendulum is To. When

parallel plates are charged, the time period
changes toT. The ratio T/ Ty is equal to :

18.

19.

20.

21.
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©|,, % (d) none of these
Eros
S

Two identical metal plates are given posiy ol
charges @; and Q, (< Q) respectively. If thay
are now brought close together to fom ,
parallel plate capacitor with capacitance C, the.
potential difference between them is :

@ A2 b A&
(9'Uz% @ A2

A dancer is standing on a stool rotating about
the vertical axis passing through its centre. She
pulls her arms towards the body reducing her
moment of inertia by factor of n. The new
angular speed of turn table is proportional to;
(a) n OR
(© n° (d) n?
Which of the following is a correct statement ?
(a) B-rays are same as cathode rays
(b) Gamma rays are high energy electrons
() Alpha particles are singly ionised helium
atoms

(d) Protons and neutrons have exactly the

same mass
The half-life period of a radioactive elementX
is same as the mean-life time of anoth
radioactive element Y. Initially both of them
have the same number of atoms then : 4
(2) X'and Y have the same decay rate initially
(b) X and Y have the same decay rate always
(©) Y will decay at a faster rate than X
(d) X will decay at a faster rate than Y b,
A coil of inductance 8.4 mH and ?i:f
is connected to 2 12 v battery. Approximat€’
lliiw?mmh time it takes to attain a current ®
(a) 500 ms

(c) 35 ms o

 (d) 1 ms
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29. A dirclar lop.
lies in
total magnetic flux through xy-plane is :
(a) directly proportional to R .
(b) directly proportional to]
(c) inversely proportional tol
(d) zero
24. A disc like reel with massless thread unrolls
itself while falling vertically downwards the
acceleration of its fall is

(@) g ) g/2
() zero () (_g) :

25. In hydrogen spectrum, the wavelength of Ha
line is 656 nm, whereas in the spectrum of a
distant galaxy, Ha wavelength is 706 nm.
Estimated speed of the galaxy with respect to
earth is : ;

(@) 2x10% mys (b) 2x107 my/s
(© 2x10° nys (d) 2x10° mys

The work done in which of the following
processes is equal to the internal energy of the
system ?

(a) Adiabatic process

(b) Isothermal process

(c) Isochoric process

(d) None of the above

27. The temperature of a metal block is increased
from 27°C to 84°C. The rate of the radiated
energy from the block will increase a

of radius R, carry

26.

approximately :
(a) 2 times (b) 4 times
(c) 8 times (d) 16 times

28 The equation of a wave is given as :

Y=0,07 sin (12nx - 3000 )

M ' x is in metre and ¢ in second, then the
correct statement is :

@ A=1/6m, v = 250 m/s

tgy liberated on complete fission of lklg
"is (Assume 200 MeV energy 15

n fission of 1 nucleus) :
101 (b) 8.2x10°J

xy-plane with its centre at origin. The

30, In the circuit, if

31.

32‘

33.

34.

35.

the diode is 0.5V, the current willbe :
05V gL
5 e

8VT $2.2kQ

(a) 3.4 mA (b) IzmA

(c) 2.5 mA (d) 3mA

A 2 kg mass starts from rest on an inclined
smooth surface with inclination 30° and length
2 m. How much will it travel before coming to
rest on a frictional surface with frictional
coefficient 0.25 ? :
(@) 4m (b) 6m

(c) 8m (d) 2m

A gas is filled in a closed container and its
molecules are moving in horizontal direction
with  uniform acceleration. Neglecting
acceleration due to gravity, the pressure inside
the container is :

(a) uniform everywhere

(b) less in the front

(c) less at the back

(d) less at the top

A particle free to move along the x-axis has
potential energy given as

U(x)=k[1-exp (-x%)] for—w < + o,

where k is a positive constant of appropriate

dimensions. Then :

(a) at points away from origin, the particle is
in equilibrium :

(b) for any finite non-zero value of x, there is a
force directed away from the origin

(c) Its total mechanical energy is k/2 and it is
equal to its kinetic energy at origin

(d) at x = 0, the motion of the particle is
simple harmonic

A charged particle is at rest in the region where

magnetic field and electric field are parallel.

The particle will move in a :

(a) straight line (b) circle

(c) ellipse (d) none of these

The velocity of the molecules of a gas at

temperature 120 K is v. At what temperature

will the velocity be 2 v ?



36. The gate shown in figure is :

s (N

38.

(b) 90°

B {01

(a) NOR gate (b) OR gate
() AND gate (d) XOR gate

37. An electric dipole is situated in an electric field
of uniform intensity E whose dipole moment is
p and moment of inertia is L. If the dipole is
displaced slightly from the equilibrium
position, then the angular frequency of its
oscillations is : o

pE/2 pE
(a) (TJ (b) [“1—)
1 /2 p\/2

@ (52) ® (&)
If in a stationary lift, a man is standing with a
bucket full of water, having a hole at its
bottom, the rate of flow of water through this
hole is Ry. If the lift starts to move up and down
with same acceleration and then that rates of
flow of water are R, and R then :
(a) RD }Ru }Rd (b) Ru_.‘?RQ .‘J'Rd
(c) Rd >R0>Ru (d) Ru:"’Rd >R.3

39. Aray of light is incident on a plane mirror at an
angle 57°, The resultant polarised light vibrates
in a plane which makes an angle with the
reflecting surface :
(a) 0°
() 572 (d) 33°

40. At critical point :
(a) latent heat becomes infinite
(b) liquid state is not possible
(c) gaseous state is not possible
(d) none of the above

41. A person used force (F), shown in figure move a

load with constant velocity on give surface,

F

(@} T

.,

p—-1L —
[dentify the correct surface profile :

. (a)

42,

43.

47,

- A rod AB of mass M, length L is lying ona’

(®)

L —

o (B
T T A —r

The work function of a substance is 4,0 ey.
maximum wavelength that ecan

WML

photoelectrons  from the substance
approximately :

(a) 540 nm (b) 400 nm

(c) 310 nm (d) 220 nm

At what temperature the molecule of nitrogen
will have same rms velocity as the molecule of
oxygen at 127°C ? ' b
(a) 457°C (b) 273°C
(c) 350°C (d) 77°C .
Two identical circular loops of metal wire are’
lying on a table. Loop A carries a current which
increases with time. In response, the loop B:
(a) is attracted by the loop A
(b) is repelled by the loop A

(c) remains stationary

(d) none of the above

horizontal frictionless surface. A particle of
mass m travelling along the surface hits the end
A of the rod with a velocity v, in a direction
perpendicular to AB. The collision is'
completely elastic. After the collision, the:

particle comes to rest. The ratio - is :

M
w2 gy2
(a) o (b) —5}%
0 ®
9y oL
() =2 )
ol (d) 9Vﬂ

The work done in which of the follo
processes is zero ?

(a) Isothermal process

(b) Adiabatic process

(c) Isochoric process

(d) None of the above _
Two thin and parallel wires are placed at d
distance b and i current is flowing through each
of the wires. The magnitude of the forcé
exerted on the unit length of wire due ©

another wire will be ;. , i
(@) pgi2/b? ®) poi2mb
() poi/2nb (d) pgiz2nb?
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48. The temperature of a gas is —68°C. At what
temperature will the average kinetic energy of
its molecules be twice that of at —68°C ?

(a) 137°C (b 127°C
(¢ 100°C (d) 105°C

49. Ametallicloop is placed in a magnetic field. If a
current is passed through it, then
(a) the ring will feel a force of attraction
(b) the ring will feel a force of repulsion
(c) will move to and fro about its centre of

gravity

S0.

(d) none of the above |
For the circuit shown in figure, which of the
following statements is true ?

V,=30V V=20V

S .-'__-qIS? - J“,:_/_:lss
T CG=F  Gp=3F =

(a) With S; closed, Y =15V, V, = 20V

(b) With S closed, Y =V, =25V

(c) With §; and Sy closed Y =V, =0

(d) With §; and S5 closed, | =30V, V; =20V

1. The hybridization of carbon atom in benzene
is :

(a) sp (b) sp?
(c) sp’ (d) dsp?
2. Compound which gives acetone on ozonolysis :
(a) CHy —CH = CH—CH,
(b) (CH3 )},C = C(CH3),
(c) CgHsCH = CH,
(d) CH3CH = CH,
3. pchloro aniline and anilinium hydrogen
chloride can be distinguished by :
(a) Sandmeyer reaction
(b) Carbyl amine reaction
(c) Hinsberg's reaction

(d) AgNO;4
4. In alumino thermic process, aluminium acts

as :

(a) oxidant (b) flux

(c) areducing agent (d) a solder

5. Mn“*can be converted into Mn’* by reacting
with :
(a) 50, (b) Cl,
(¢) PbO, (d) SnCl,

6. A compound is treated with iodine and an
alkali. It gives a yellow ppt. The compound is ?
(a) propionaldehyde (b) benzophenone
(¢) methyl acetate (d) acetophenone

7. Phenol is less acidic than :
(a) acetic acid (b) p-methoxy phenol
(c) acetylene (d) ethanol

10.

11.

12,

13.

14.

15.

Which reaction is not affected by change in
pressure ?

(a) Hy + I = 2HI

(b) 2C + O, = 2CO

(c) Ng+ 3H; = 2NH; .

(d) PClg == PCl, + Cl,

Which of the following does not show
Cannizaro reaction ?
(a) CH;CHO

(c) CgHCHO

(b) HCHO
(d) (CH;);C-CHO

Oxidation state exhibited by sulphur :
(@) +6 (b) + 4
(c) 0 (d) all of these

Electronic configuration of chromium is given
by :
(a) [Ar] 3d*, 4s2

(c) [Ar] 3d°, 452

(b) [Ar] 3d°, 4s'
(d) none of these

Benzene can react with :
(a) bromine water (b) HNO 4
(¢) H0 (d) CH;0H

Hydrogen bonding is maximum in :
(a) C,H:OH (b) CH30CH,4
(¢) (CH3),C =0 (d) CH;CHO

Which of the following is non-metallic ?
(a) B (b) Be
(¢) Mg (d) Al

The compound not solubfe in acetic acid is :
(a) CaCOj (b) Cao
(C) CHC204 (d) Ca(DHJ2




16. Rate constant for a reaction is 1073 571, Time

to leave 25% reaction is :
(a) 693 s (b) 13865
(c) 6930s (d) 2029 s

17. A compound does not react with
2, 4 dinitrophenyl hydrazine, compound is :

(a) acetone (b) acetaldehye
(¢) CH,0H (d) CH3CH,COCH;
18. A meta directing functional group is :
(a) —COOH (b) —OH
() —CH;4 (d) —Br
19. Which of the following is paramagnetic ?
() 05° (b) CN~
() CO (d) N,

20. 1, 2-dibromo cyclohexane on dehydrogenation

gives :
0 Q o0
e

21. Correct increasing order of first ionization
Ppotential is :
(a) Na< Mg> Al < Si
(b) Na< Mg< Al < Si
(c) Na> Mg> Al> Si
(d) Na< Mg< Al> Si
22. If enthalpies of methane and ethane are
respectively 320 and 560 cal, then the bond
energy of C—C bond is :
(a) 60 cal (b) 80 cal
(c) 40 cal (d) 120 cal
23. A hydrocarbon contains 10.5 g carbon and 1g
hydrogen. Its 0.36 g has 1 L volume at 1 atm
and 127°C, hydrocarbon is :
(a) CﬁHy fb} C-;Hg
(c) CsHg (d) none of these
24. How many bonding electron pairs are there in
white phosphorus ?
(a) 6 (b) 12
(c) 4 (d) 8
25. Addition of HBr to propylene in presence of
benzoyl peroxide, follows :
(a) Markownikoff’s rule
(b) Baeyer's rule :
(c) carbanion mec.'ham'sm
(d) anti-Markownikoff's rule

(d) noneof these

26. On adding a solute to a solvent having

27.

29.

30.

31.

32.

33.

34,

35.

pressure 0.80 atm, vapour pressure l‘ed,

0.60 atm.Mole fraction of solute is :
(a).0.25 (b) 0.75

(c) 0.50 (d) 0.33
Heavy water is :

(a) water containing Fe, Cr, Mn
(b) water at 0°C

C
Ed;; ?.'i?er obtained after distillation
Volume of water needed to mix with 19 ml,
10 N HNO4 to get 0.1 N HNOg is : 1
(a) 1000 mL (b) 990 mL
(c) 1010 mL (d) 10 mL 4
Which will show maximum depression iy
freezing point when concentration is 0.1 M ?
(a) NaCl (b) Urea
(c) Glucose . (d) K804
Which gives lactic acid on hydrolysis after
reacting with HCN ?
(a) HCHO (b) CH3CHO
(¢) CgH«LCHO (d) CH3COCH,4
CHCl3 and KOH on heating with a compound
form a bad smelling product, compound is :
(a) CEHSCN (b) C2H5NC
(c) C,HOH (d) C,HNH,
On exciting Cl, molecules by UV light, we get .
(a) Cl (b) c1t
(c) CI” (d) all of these
Correct statement about 1, 3-dibutene -
(a) conjugated double bonds are present
(b) reacts with HBr
(¢) forms polymer
(d) all of the above
Isomerism due to rotation round single bond of
carbon-carbon is :
(a) Enantiomerism
(b) Position isomerism
(¢) Conformation
(d) Diastereo isomerism
Which pair does not show hydrogen isotopes?
(a) Ortho and para hydrogen !
(b) Protium and deuterium
(c) Deuterium and tritium
(d) Tritium and protium _
Which pair cannot exist together in solution ?
(a) NaHCO,; and NaOH
(b) NaHCO, and NaCl
{:C] NaHCOg and N32C03
(d) NaCl and Na,CO4



37. When an electron is removed fr

38.

——

(d) NaCl and NajCo,

ey Om an atom, its
(a) increases

(b) decreases

(c) remains the same

(d) none of the above

In a reaction, when the concentration of
reactant is mcreasad two times, the increase in
rate .of _reactlon was four times. Order of
reaction is :

(a) zero Sl

(© 2 (d 3

39, Strongest base is :

40.

41.

42.

S i catis W

L L attains minimum value at :

(a) CgHsNHz

(b) pNO,—CgH4NH,

(C) m-NOE—-—C{_.H.qNHz

(d) CgHsCH;NH;

The value of one amu is :

(a) 1.66x107%%  (b) 6.023x10%g

(© 1.4x107%'g  (d) 4.8 x10724g

Which of the following has minimum melting
point ?

(a) CsF (b) HCI

(¢) HF (d) LiF

Which of the following is related with both
wave nature and particle nature ?

(a) Interference (b) E = mc?

(c) Diffraction (d) E = hv

43. Nirogen is obtained when NaNO, react with :
(a) NH,CI (b) NH,NO3
(c) (NH4),CO3 (d) NH,OH

- 44. Hydrogen bond energy is equal to :

(a) 3-7 cal (b) 30-70 cal
(¢) 3-10 kcal (d) 30-70 kcal

45. Strongest hydrogen bond is present in :

(b) S—H...... (6]

(dy F—H. 1L F

46. Which of the following has dipole moment ?
(a) CO, (b) p-dichlorobenzent
(c) NHj (d) CHy4

47. Which of the following pK, values, represent
the strongest acid ?
(a) 107* (b) 107°
(©) 107° (d) 1072

48. Which group of the periodic table contains
coinage metal ?

(a) 1A (b) IB
(c) 1A (d) None of these

49. Which of the following has maximum bond
energy ?
(a) Cly (b) F;
(c) Bry (@ I,

50. For a process to be spontaneous, the most
favourable condition is :
(a) AH>0,AS>0 (b) AH<0,AS>0
(©) AH<0,45<0 (d) AH>0,A5<0

1+ x2
(a) x=0 (b) x=4
() x=1 (d) x=3
If ;, ﬁ, © are the non-coplanar vectors, then

;.(3x3]+ﬁ.(;xz)is:

E’U(;)‘(i;:l

the value of S
(cxa)eb

(a) 1 (b) 2
(c) O (d) none of these
If x — 2y = 4, the minimum value of xy is :
(a) -2 (b) O

(c) O (d) -3

4. Ifz=x+iyand 12__?\=1, the locus of z is :
(a) x-axis
(b) y-axis

(c) circle with unity radius
(d) none of the above

5. The vertex of an equilateral triangle is (2, - 1)
and the equation of its base is x + 2y =1, the

length of its sides is :
2
(a) :fﬁ

@ 7‘;-5-

6. The resultant of two forces P and Q is R. If the
direction of P is reversed keeping the direction



e

Q same, the resultant remains unaltered. The
angle between P and Q is :
(a) 90° (b) 60°
(c) 45° (d) 30°

7. The distance s (in cm) travelled by a particle in
t seconds is given by, s =t3 + 2t%+¢. The

speed of the particle after 1 s will be :

(a) 2cm/s (b) 8 cm/s
(c) 6cm/s (d) none of ﬂ;ese
8. The roots of | x — 2|2 + | ¥~ 2| -6 =0are:
(@) 4, 2 (b) 0,4
(€ =13 (d) s, 1

9. The height of a tower is 7848 cm. A particle is
thrown from the top of the tower with the
horizontal velocity of 1784 cm/s. The time
taken by the particle to reach the ground is

(g =981 cm/s%):
(a) V8s (b) 2s
(c) 45 (d) 8s
0 2
10. The directrix of the hyperbola?—%=1is:
6 6
a = — = —
(@ y — (b) x e
9 9
C = d ==
(© y A3 (d) x 13

11. The value of
cos ™ (cos -51"5) + sin”! (cos %J is :

3
:.-.;',_;.%-q =) !?" - ()0
Byl 't.;_-. il '_EE{{ i ’ B
(c) i (d) 3 _
' 1+x 2x :
12. If f(x)=log (ﬁ} then f (1 A sz will be
equal to :
(@) 2f(x*) (b) f(x?
(c) 2f(2x) (d) 2f(x)

13. If(l+x-2xz)6=l+alx+a2x2'+...+

ajpx 2 thenthevalueofas + ag + ... + ayy, is:

(a) 31 (b) 32
(c) 64 (d) 1024

[ 4. 2x3 -~ 6x + 5is an increasing function, if :
(a) 0<x<1 (b) --1<:.vc¢-:11
(c) x<-lorx>1 (d) -1<x<=5

15.

16.

17.

18.

19.

20.

21.

22'

towards each other with speed of 20

Two trains are 2 km apart. Their lengthg ..
200 m and 300 m. They are approgq.

30 m/ s respectively. They will cross each g, -
after:

(a) 1505 ° Bt
(©) 50 (d) 7s

as .

(3) 3, 1 (b) 3, 2
preE e L e gs

The value 0 I=I0xx 3 :

1 1
(c) % (d) none of these
IfA:[g ﬂ,ladjﬂiis equal to :
(a) 6 (b) 16
() 10 (d) none of these

;-{ﬁ+ E’}x(“§+ b+ ?}is equal to :
(@ [abe] (b) 3[a b ¢]
(©) 0 (d) 2[a b ¢]

Ablock weighing w, is supported on an inclined
surface with the help of a horizontal force P
The same block can be supported with the help
of another force Q acting parallel to the

inclined surface, then the value of - + -1515
p° W

(@) wsin a (b) 1

1
@ = 1

Q (d) 7
Jy ! i :
o | X =1]dx is equal to :
(@) 0 1

(b) 3

el (d) 2
From a pack of cards two are accideﬂ.‘

dropped. Probabilj i
shade is : Uity that they are of opp®=

13
(a) = 1
2; ®) 555 51
(0 =

51 (d) none of these



(© 45° @

7. The distance s {in cm) travelled by a particl
t seconds is given by, s=t3 + 2 +t. Th
speed of the particle after 1 s will be :

(@) 2cm/s (b) 8 cm/s
(©) 6cmy/s - (d) none of these
8. The roots of | x - 2| + | ¥~ 2| - 6= Oare::
(a) 4,2 (b) 0,4
(0 -1,3 (d) 5,1

9. The height of a tower is 7848 cm. A particle is
thrown from the top of the tower with the
horizontal velocity of 1784 cm/s. The time
taken by the garﬁcie to reach the ground is

(g =981 cm/s%):
(a) V8 () 2s
(c) 45 (d) 8s
AR
10. The directrix of the hyperbola o lis:
LB L6
(a) J’—E (b) x S
L.~19 9
(c) J"—UE (d) x 75
11. The value of
iy S5n Sy 5n). 1
cos (cos ":?] + sin (cos T) is:
¥ ?l,.'ﬂ"'.:' l?" (b) 0
Lyl 1 ,I'f;:’: g ; 5
| (c) D (d) 3 .
1+ x 2x ;
12. If f(x)=log (ﬁ)' then f [1 3 sz will be
equal to :
(@) 2f(x*) (b) f(x?)
(c) 2f(2x) (d) 2f(x)

13. If[l+x—2x2}6=1+a1x+a2x2'+...+

ay, x % thenthevalue ofay + ag + ... + @y, is:

(a) 31 (b) 32
(c) 64 (d) 1024

14. 2x3 — 6x + 5is an increasing function, if :
(a) 0<x<1 (b) -1<x<1

1
(c) r<=larx>1 '(d —lr:x‘:--i

17.

18.

19.

20.

21.

22'

bl ﬁs
,dxz SHTR SR Otder

as :

© 1,3 @ 2,3

The value of I = I; X | x —%'dxls ;
LR

@ 3 ® 3

© 3 (d) none of these

IfA= [g ﬁ],l adj A|is equal to :

(b) 16
(d) none of these

(a) 6

(c) 10
;.(B’-r :)><(:+ b+ 3)is equal to :
@ [abec] (b) 3[a b e]
© 0 (@) 2(aB el

A block weighing w, is supported on an inclined
surface with the help of a horizontal force P,
The same block can be supported with the help
of another force Q acting parallel to th

inclined surface, then the value of l b
(a) wsin a ) 1
Q Q2
2
j.;, | x — 1| dx is equal to :
e A 2

From a pack of cards two are accidentl
dropped. Probability that they are of opp
shade is : :

13 1
Sl ®) 55 51
26

(c) 3

hi:

(d) none of these "



25 v
@ 17 ®) %4-

BN Lios
© 35 @ =
5 . T : :

BC intemally in ratio 1: 3, th '
e en the value of

sin Zcap ®' '
1 1

® 7 ® -

@ 2 @ 3

26. If|; X i.:] =| a. i:)|, then the angle between a

=+,
and b is :

2n
(@) n (b) =
) T
© % @ 3
27. Let A, B and C are the angles of a triangle and
A 1l B 2 ZiN
tan [EJ o -é, tan (-E) = E. Then, tan (-i] 15
equal to :
1 2
(a) g (b) ;
28. The value of lim (1 - x) tan (1—; XJ :
3 x =1 7
(a) > ®) 3
2 13

2. 1f f(xj=(-]-]x, then the maximum value of
f(x)is :
(a) e

(© [%T

30. The volume of the solid formed by ru-tal;ir;g the
area enclosed between the curve y = x“ and

(b) (&)
(d) none of these

34.

35.

36.

37.

38.

39.

_ (d 4
If x = 3+1, then x° — 3x? - 8x + 15 is equal
to: !
(a) 45 (b) -15 '

(¢) 10 (d) 6

The function f(x) = log (x + yx?% + l;l'.is :

(a) even function

(b) odd function

(c) neither even nor odd

(d) periodic function
The perpendicular PL, PM are drawni from any
point P on the rectangular hyperbola xy = 25to
the asymptotes. The lucuh of the mid point of
OP is curve with eccentricity :

(a) an ellipse with e =2 '

(b) hyperbola with e = ‘IE

C b i e
(c) parabola with e 75

(d) none of the above

If |a]=|B|=|¢|=1 and a+B+e=0,
menthevalueof?.i’+ 3-34- 3-§is:
(a) O (b) -1
© -3 () 3

2
Ifx =logp, a, y = log. b, z = log, ¢, then xyzis:
(a) 0 (b) 1 '
(c) 3 (d) none of these
The value of the determinant

1 cos(a -f) cosa :
cos (a0 — ) 1 cos B|is : i

cos a cos 3 1 :

(@ 0 (b) 1 :
(©) a?-p? :

| (d) u2+ﬁ2 !
IfP(A)= P(B)= x and J

B s AL
P(AnB)=P(A'nB )=§,thenx'is equ?lltg:
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If p and q are the roots of the equation
x?+ px + g=0, then :

(@) p=1or0 (b) p=—20r0
(c) p=-2 (d) p=1

Gl = pol =

If a dice is thrown twice, the probability of ;

occurrence of 4 at least once is ;

11 35

(c) i?-i (d) none of these

The value of I:|x—5| dxis:

(a) 9 (b) 12

{c) 17 (d) 18

The value of [ |sin® 0] dis: |

(a) 0 ®) = |
4 3

© 3 @ 3

. A ball weighing 2 kg and speed 6 mys collides

with another ball of 4 kg moving in opposite
direction with speed of 3 m/s. They combine
after the collision. The speed of this combined
mass (in m/s) is :

(a) 4 (b) 2
(c) 0 (d) 3
If o, B,y are the roots of the equation

o 4x + 1 =0, then
(a+B) +@B+7) 4 (y+a)!isequalto:

(a) 2 (b) 3
(c) 4 (d) s
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47.

49.

50-

9+ cos 28 + cos 30 =0, the genery| Valy,
dfeifr‘ S 1l

(b) B=mm + 'S5
© 0=mn+ 1" %
(d) 8=2mnE %

Three like parallel forces P, Q and R are "

on the vertices of a AABC whose reg,, *

passed through its centroid, then :
' R

WP QDR
(a) T CQ i
®) ZnA tanB tanC
(c) P=Q=R

(d) none of the above
A person observes the angle of elevation of
building as 30°. The person proceeds towgpe
the building with a speed of 25(+/3 - 1) pp.
After two hours, he observes the angle ¢
elevation as 45°. The height of the buildipy

(inm) is :
(a) 50(v3-1) (b) 50(/3 + 1)
(c) 50 (d) 100
X+ 2
The value of xl-iﬂq [i : f ) is :
(a 0 (b) 1
(©) ¢ (d) e*
IfA+ B +C =n, then

cos 2A + cos 2B + cos 2C

+ 4 sin A sin B sin C is equal to :
(@) 0 (b) 1

(© 2 (d) 3






